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1. 𝑝̂𝐵~𝑁 (𝑝𝐵  ,
𝑝𝐵𝑞𝐵

𝑛𝐵
) 

2. 0.51 

3.  𝑃(𝑝𝐴 < 0.5) = 𝑃 (𝑍 <
0.5−0.43

√
0.43×0.57

90

) = 𝑃(𝑍 < 1.34) = 0.90988 

4. √
𝑝𝐴𝑞𝐴

𝑛𝐴
+

𝑝𝐵𝑞𝐵

𝑛𝐵
= √

0.43×0.57

90
+

0.51×0.49

150
= 0.06625 

5. 𝑃(𝑝̂𝐴 − 𝑝̂𝐵 > 0.05) = 1 − 𝑃 (𝑍 <
0.05−(0.43−0.51)

0.06625
) 

                                     = 1 − 𝑃(𝑍 < 1.96) 

                                     = 1 − 0.975 = 0.025 

6. 𝑛𝐴 ≥ 30  , 𝑛𝐴𝑝𝐴 > 5  , 𝑛𝐴𝑞𝐴 > 5 

 

𝜆𝑜𝑛𝑒 𝑚𝑜𝑛𝑡ℎ = 10  

7. 𝑃(𝑋 = 2) =
𝑒−10102

2!
= 0.0023 

8. 𝑃(𝑋 = 3) =
𝑒−10103

3!
= 0.0076 

9. √𝜆𝑜𝑛𝑒 𝑦𝑒𝑎𝑟 = √10 × 12 = √120 = 10.95 

 

𝑘 = 0.25  

10.   𝑃(1.5 < 𝑋 < 3.5) = 0.6 

11.  𝑃(𝑋 ≤ 1) = 0.35 

12.  𝑃(𝑋 = 2.5) = 0 

13.  𝐸(𝑋) = (0 × 0.15) + (1 × 0.25) + (2 × 0.4) + (3 × 0.2) = 1.65 

14.  𝐸(𝑋2) = (02 × 0.15) + (12 × 0.25) + (22 × 0.4) + (32 × 0.2) = 3.65 

𝑉𝑎𝑟(𝑋) = 𝐸(𝑋2) − 𝐸(𝑋)2 = 3.65 − (1.65)2 = 0.9275 

 

 

 



𝑝 = 0.45  ,   𝑛 = 6  

15.  Binomial 

16.  𝑃(𝑋 = 4) = (
6
4

) (0.45)4(0.55)2 = 0.1861 

17.   𝑃(𝑋 ≥ 2) = 1 − 𝑃(𝑋 < 2) = 1 − 0.163567 = 0.8364 

18.   𝐸(𝑋) = 𝑛𝑝 = 6 × 0.45 = 2.7 

19.   𝐸(𝑋) = 𝑛𝑝𝑞 = 6 × 0.45 × 0.55 = 1.485 

 

𝜇1 = 𝜇2    
𝜎1

2 = 100

𝜎2
2 = 80

        
𝑛1 = 25
𝑛2 = 16

 

20.  Zero 

21.  
𝜎1

2

𝑛1
+

𝜎2
2

𝑛2
=

100

25
+

80

16
= 9 

22.  𝑃(𝑋̅1 − 𝑋̅2 < 8) = 𝑃 (𝑍 <
8−0

√9
) = 𝑃(𝑍 < 2.67) = 0.9962 

23. 𝑃(𝑋̅1 − 𝑋̅2 > 8) = 1 − 𝑃 (𝑍 <
3−0

√9
) 

= 1 − 𝑃(𝑍 < 1) = 1 − 0.8413 = 0.1587 

 

24.   𝑛, 𝑝 

25.    Location 

26.   1 

27. 𝑣 = 5  , 𝑡0.99  : 3.365 

 

28.   165 

29.   𝑁(165 , 7.5) 

30.   𝑃(𝑋̅ > 178) = 1 − 𝑃 (𝑍 <
178−165

7.5
) 

                          = 1 − 𝑃(𝑍 < 1.73) 

                          = 1 − 0.9582 = 0.0418 


